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Abstract

We study the Hankel determinant of the generalized Jacobi weight (x —
1)7x%(1 — x)# for x € [0,1] with @, 8 > 0, ¢ < 0 and y € R. Based
on the ladder operators for the corresponding monic orthogonal polynomials
P,(x), it is shown that the logarithmic derivative of the Hankel determinant is
characterized by a Jimbo—Miwa—Okamoto o -form of the Painlevé VI system.

PACS numbers: 02.30.Gp, 02.10.Yn, 02.30.Hq

1. Introduction and statement of results

Let P,(x) be the monic polynomials of degree n in x and orthogonal with respect to the
generalized Jacobi weight w(x; t), that is,

1
/ P, (x)P,(x)w(x)dx = hyép p, h, >0, m,n=0,1,2,..., (1.1)
0
where
Py(x) =x"+p (m)x" "+ (1.2)
and
w(x) == wx; 1) = (x — 1)’ x%(1 —x)*, x € [0, 1], (1.3)

withea, B > 0,1 < 0 and y € R. (In what follows, we often suppress the r-dependence for
brevity. We believe that this will not lead to any confusion.) An immediate consequence of
the orthogonality condition is the three-term recurrence relation

X Py (x) = P (X) + 0ty Py (x) + By Py—1(x), (1.4)
3 Author to whom any correspondence should be addressed.
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where the ‘initial’ conditions are taken to be Py(x) := 1 and By P_;(x) := 0. Obviously, when
t — 07, these polynomials are reduced to the classical Jacobi polynomials up to some shift
and rescaling, whose properties are well known; see [24]. In the literature, although people
may use slightly different definitions, the generalized Jacobi polynomials have been studied
from many points of view; for example, see [14, 15, 21, 25, 26]. In particular, Magnus [19]
showed that an auxiliary quantity occurring in his study satisfies the Painlevé VI equation for
certain parameters.

In this paper, we are concerned with the Hankel determinant for the generalized Jacobi
weight

n—1

1
D, (1) = det (/ X w(x; ) dt)
0 j.k=0

1 1 1 n
= ,7/0 /0 H(xi _x.i)zl_[w(xk§ 1) dx, (1.5)
' k=1

i<j
with w(x; ¢) given in (1.3). Our motivation for this research mainly arises from the close
relation between Hankel determinants and random matrix theory, which is of interest in
mathematical physics. Indeed, the Hankel determinant defined in (1.5) can be viewed as the
partition function for the unitary ensemble with eigenvalue distribution

[Tei —xp? TToaw = 07xi (=20 s (1.6)
i<j k=1
see the definitive book of Mehta [20] for a discussion of this topic. The main purpose of this
work is to study the properties of D, (¢) as a function of r. More precisely, we are going to
show that the logarithmic derivative of Hankel determinant D,,(¢) is characterized by a Jimbo—
Miwa—Okamoto o-form of the Painlevé VI system. The appearance of Painlevé VI may not
be so surprising somehow. As a matter of fact, it was already known that, for some special
weight functions, the corresponding Hankel determinants are connected to the well-known
nonlinear ordinary differential equations—Painlevé equations. In particular, it is first shown
in [16] that a gap probability in the Jacobi polynomial ensemble is related to Painlevé VI, see
also [7, 13] for further discussion. For the present general Jacobi case, although it is natural
to ‘guess’ the existence of such a link, the precise form and specific quantity to which it is
related to, however, is not clear.

Our approach is based on the ladder operator for orthogonal polynomials, which has been
successfully applied to many other polynomials before; see [2, 3, 8, 10-12]. The main result
is the following.

Theorem 1.1. Let H, be the logarithmic derivative of the Hankel determinant with respect
tot,

H,(t) :=t(t — 1)% In D, () 1.7)
and denoted by
H, = H, +dt +d>, (1.8)
with
(@ +B)°

d=-nn+a+B+y)— 7 ,

1
dy=72nn+a+p+y)+pla+p)—yl—pl
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Then Fln satisfies the following Jimbo—Miwa—Okamoto o -form of Painlevé VI in [18, 22]
H @ - DHY + 2H.¢H, — Hy) — H? — vivyvsvg)’

= () +3) (1 + 3) (7 4 3) (413, (19)
with
a+ B B—« 2n+a+p 2n+a+B+2y
v = , v, = , V3= ——, V= ——.
2 2 2 2

Remark 1.1. Due to the symmetric form of (1.9), the choice of vy, v,, v3 and v, is not unique.

Remark 1.2. Although we assume ¢ < 0 in the definition (1.3) of the weight function w(x),
theorem 1.1 also holds for ¢ > 1 if (x — 7)Y is substituted by (r — x)”. One may expect this
theorem is valid for all real ¢t # 0, 1 when (x — t)? is replaced by |x — ¢|”, which is similar
to what has been studied by Chen and Feigin [9]. Unfortunately, we cannot prove it at this
moment.

Remark 1.3. If y = 0, then (x — )Y = 1 and we can readily reduce the polynomials
P,(x) in (1.1) to the classical Jacobi polynomials, which are of course ¢ independent. As a
consequence, the formula (1.8) provides a trivial solution for the associated o-form in (1.9).
Moreover, if y = 1, the Hankel determinant D,,(¢) defined in (1.5) is actually a polynomial in
t of degree n and orthogonal with respect to the ‘shifted” Jacobi weight t*(1 —¢)# on [0, 1]. By
the classical theory of Jacobi polynomials (cf [24]), D, (¢) satisfies the following second-order
differential equation:

t(l=0)D) —[2+a+p)t —a—1]1D, +n(n+a+p+1)D, =0. (1.10)
Hence, if we denote by u(t) := % In D, (1), it is easily seen that u(¢) is a solution of the
following Riccati equation:

=t =t — D> +[Q+a+Bt —a—1lu —nn+a+B+1) (1.11)

for t < 0 in this special case. In addition, one can verify that #(t — Du(t) + dit + d; is a
rational solution to the associated o -form in (1.9).

From (1.4), it is easily seen that 8, = h,,/h,—,. Since

n—1

D,,(t):l_[hj (1.12)
j=0
(see equation (2.1.6) in [17]), we can express §, in terms of the Hankel determinant as follows:
anan 1
B, = T*. (1.13)

Therefore, it is also expected that there exists a certain relation between g, and the Painlevé
VI equation. Indeed, as a by-product of our main theorem, we find a first-order differential
equation for B,, whose coefficient is closely related to the Painlevé VI equation.

Theorem 1.2. The recurrence coefficient B, satisfies a first-order differential equation as
follows:

d
taﬂn=(2+Rn_1 — Ry B, (1.14)
where R, is related to the Painlevé VI equation in the following way. Let
t— DR, (t
W, () := ( YR (1) + 1. (1.15)

2n+a+B+y+1

3
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Then W, (t) satisfies the Painlevé VI equation

, 11 1 1 " 1 1 1 ,
W ==+ + W) — |-+ + w,
2\wW, W,—1 W,—t t t—1 W,—t

N Wn(an— DWW, —1) ( 1+M_2t+ w3t —1) N pat (t — 1)>, (1.16)
12 (t — 1)? w2 (W, —1)2 (W, —1)?
with
Qu+a+p+y+1)? a? B? 1 —y?
m1 = ) ) H2=—7, M3=7, Hg = 5

The present paper is organized as follows. In section 2, we give a brief introduction to the
ladder operator theory and state three compatibility conditions S, S, and S). Based on these
supplementary conditions, we introduce some auxiliary constants in section 3. Their relations
with other quantities such as the coefficient of orthogonal polynomials, Hankel determinant,
etc are also derived for further use. We conclude this paper with the proof of theorems 1.1 and
1.2 in sections 4 and 5, respectively.

2. Ladder operators and compatibility conditions

The ladder operators for orthogonal polynomials have been derived by many authors with a
long history, we refer to [4-6, 11, 23] and references therein for a quick guide. Following the
general set-up (see for example [11]), we have the lowering and raising ladder operator for
our generalized Jacobi polynomials P, (z):

d
<d—z + Bn(z>> Pa(2) = BuAn(2) Pa_y (2),. @1
d
(5 — B,(2) — v’(z)) Pt (2) = — A1 (D) Pa(2), 2.2)
with v(z) := —Inw(z) and
1 1.\, v
@) = - / YR ZVO) b ) Pw(y) dy, 2.3)
n Jo =Yy
1 1., v
Bu() = - / YR VD) b () Pw(y) dy. 2.4)
n—1J0 =Yy

Note that A,(z) and B,(z) are not independent but satisfy the following supplementary
conditions.

Proposition 2.1. The functions A, (z) and B, (z) defined in (2.3) and (2.4) satisfy the following
compatibility conditions:

B1(2) + B, (2) = (2 — ) Ap(2) = V(2), (S1)
I+ (Z - an)[BnH(Z) - Bn(Z)] = ﬂn+1An+l (Z) - ﬂnAn—l(Z)- (SZ)

Proof. Using the recurrence relation and the Christoffel-Darboux formulas, all the formulas

(2.1), (2.2), (S1) and (S,) can be derived by direct calculations. We refer to [4-6, 23] for
details. Also, see [10, 11] for a recent proof. O

4
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From (S;) and (S,), we can derive another identity involving Z;:(l, A; which is very
helpful in our subsequent analysis. We state the result in the following proposition.

Proposition 2.2.
n—1
BX@) + V(B () + Y Aj() = fuAn(@) Au1(2). (83)
j=0
Proof. See the proof of theorem 2.2 in [8]. O

The conditions S, S, and S/, are usually called the compatibility conditions for the ladder
operators, which will play an important role in our future analysis. Although the author
obtained an equivalent form of S} in [19], he did not study it further. We would also like
to emphasize that, as in [8], the condition S, is essential in the present case (see remark 3.1
below), while in [2, 3], only the conditions S; and S} are sufficient to derive all the relations.

3. The analysis of the ladder operators

3.1. Some auxiliary constants

To prove our results stated in section 1, we would like to introduce some auxiliary constants
first. For the weight function w(z) given in (1.3), we know

v(iz) = —Inw() = —alnz—BIn(l —z) — yIn(z —1). 3.1
Hence,
v’(z):—g—i—L (3.2)
z z—1 z—-1t
and
V'(z) = V() _a, B + 14 . (3.3)
z=y zy z—=-DOG-D @@-Hh-1

Since the right-hand side of the above formula is rational in z, it is easily seen that both A, (z)
and B, (z) are also rational in z from their definitions in (2.3) and (2.4). More precisely, we
have the following lemma.

Lemma 3.1. We have

Ry R Ri—R;

A,(z) = — — 7 (3.4)
r* T'n rm—rf—n
B,(2) = =+ — + o (3.5)
z z—1 z—t
where
1
d
Ry == / (PP ()=, (3.6)
n JO y
1
d
Ry= L / PP -2 3.7)
n JO -y
N o 1 dy
Fp = h / Pn—l(y)Pn(y)w(y)_’ (38)
n—1J0 y
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1
d
ri= L [ B P wn -2 (3.9)
hu-1 Jo l—y

Proof. Inserting (3.3) into (2.3) gives us

1 ! d ! d
A@) = - [5 / P Pun 2 + P / [Py () Pw(y) ——
n 0 y 0 y - 1

Z z—1
y (! 5 dy

i / [Py () Pw(n) —2— | (3.10)
zZ—1t Jo y—t

Applying integration by parts, we obtain

1 1 1
/0 [P, () Pwy)V (y)dy = — fo [P dw(y) = f 2P, (y)P,(y»)w(y)dy =0. (3.11)

0
On account of (3.2) and the above formula, we have

1 d 1 d 1 d
y f [P, Pw(y)—— = B f [P Pw(y)—— —a f (PO Pw()=.  (3.12)
0 y—t 0 I—y 0 y

A combination of (3.10) and (3.12) yields (3.4).
In a similar manner, we get (3.5) from (2.4). In that case, we need to make use of the
following equality:

1 dy 1 dy
V/ P 1) P(w(y)—— = —nh, —a/ Py (M) Pa()w(y)—
0 y—t1 0 y

1 dy
+ﬂ[ Pn_l(y)Pn(y)w(y)l—. (3.13)
0 =) O

In view of the compatibility conditions (S)), (S») and (S}), one can derive the following
relations among the four auxiliary quantities R, R, 7, 7,1

Proposition 3.1. From (S;), we obtain the following equations:

ot T10 = — R}, (3.14)
Fpyl v, = (1 - an)Rn - ,37 (315)
IRF— (@t —DR,=2n+1+a+B+y, (3.16)

where the constants R,, R}, r, and v} are defined in (3.6), (3.7), (3.8) and (3.9), respectively.

Proof. Substituting (3.4) and (3.5) into (S;), we have

* * *
Iyt rn+1+r,,+rn+1+r,,—r+1—rn—2n—1

Bu11(2) + By(2) = I (3.17)
z—1 z—t
and
, R* R, R,—R'] a B y
Z—a)A@)—Vv(@=C—a)|— — +—7 |+ =+ +—
Z z—1 z—t z z—1 z—t
— o, R* 1—a,)R, — t —o,)(R, — R*
_a—«a ,,_( an) ,3+( an)( ,,)+J/_ (3.18)

b4 z—1 z—t
Comparing the coefficients at O(z™!), O((z — 1)) and O((z — t)~') in the above two
formulas, we get

6
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Fas + Ty = — o Ry, (3.19)
Fnet v = (1 —a,) R, — B, (3.20)
Fngl ¥ 1y — Vg —Fn —2n—1= (@ — o) (R, — R} +y. (3.21)
A combination of the above three formulas gives our proposition. ]

Proposition 3.2. From (S,), we have the following equations:

r? —ary = BuRIR;_,. (3.22)
ry+ Bry = BuRuRy_1, (3.23)
Cn+B+y)ry — Cun+a+y)r) +2rr; —nn+y) = By(Ry_1R; + RyR}_)) (3.24)
and

|
—_

n

R] = (2n+()l+ﬂ+]/)(rn_r;lk)_n(n-'-y)

~.
Il
(=}

N Cn+a+B+y)ry+nn+p+y)
11—t ’
where the constants R,, R}, r, and r}; are defined in (3.6), (3.7), (3.8) and (3.9), respectively.

(3.25)

Proof. Again we substitute (3.4) and (3.5) into (S5) to obtain

n—1
O —art r2+Br, =1 —n)r,—r—n—y)
B2 () +V(2)B,(2) +Y Ai(z) = -2 Loyt + a a
2(2) +V(2)B,(2) ;O i@ = Y Za—
ar, — pry —2r,r; N (rp—ry—n)2ry —a) —yr;
z2(z—=1) z(z — 1)
_(I’n—r;_n)(zrn"'ﬂ)_yrn_'_nz_i R_;(_ Rj +Rj_R;f (3.26)
(z=D(z—=1) =Lz z—1 z—1t '
and
ﬁn R:R:_l IBanRnfl ﬂn(Rn - R:)(Rnfl - R:_l)
nAn < An— Z) = + +
_ ,Bn(R:Rn—l + RnR;,kfl) i lgn(R::Rn—l - 2R:R:,1 + RnR;:,l)
z(z—1) z(z —1)
2 (R,R*_ —2R,R,_1+ R,_R"
AT ! R (3.27)
(z=D(—1)

Equating the coefficients of the above two formulas at O (z72), O ((z—1)"2?) and O((z —t)72),
we get (3.22), (3.23) and

(rn—ry =m)(rp —ry —=n —y) = Bu(Ry — R (Ry—1 — R,_y), (3.28)

respectively. A substitution of (3.22) and (3.23) into the above formula gives us (3.24). At
O((z — D1, note that

1 1
-=14+0(z—-1), — =——+0(z—1), as z — 1.
Z z—t 1—1¢
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It then follows from (3.26) and (3.27) that
n—1

% (rn_r:_n)(zrn"'ﬁ)_yrn
—2rpry — Bry +ar, — ZRj -
j=0

1—1t
—R,R* | +2R,R,_1 — R,_|R*

=—B,|RyR;_|+R,_1R; + T . (3.29)
Combining (3.24) and the above formula, we have
n—1
ZRj = Qn+a+B+y)ry—r))—nn+y)
j=0

2B RuRu_1 +Qu+a+ B+ )i +nm+p+y) —2r2 —28r,

YRRt + Quras poy) e tfy) 220230 g,
Eliminating 8, R, R,— in (3.30) with the aid of (3.23), we finally obtain (3.25). (Il
Remark 3.1. From another condition (S;), we get one more equation as follows:

t—Drpp1 — 1) =ty — 1) —t+0a, =0. (3.31)
Rewriting the above formula yields

oy =ty — 1) — (= D)(rpe — 1) +1. (3.32)
Since it follows from (1.2) and (1.4) that

a, =p(n) —p(n+1), n=0,1,2,..., (3.33)
with p;(0) := 0; hence, it is easily seen

n—1
=Y a;=pi). (3.34)
j=0

Inserting (3.32) into the above formula, we obtain
pi(n) = (t — Dry —tr; —nt, (3.35)

where we have made use of the initial conditions ro(t) = rj(t) := 0.

3.2. The recurrence coefficients

Not only the coefficients A, (z) and B, (z) of the ladder operators in (2.1) and (2.2) but also
the recurrence coefficients o, and B, in (1.4) can be written in terms of the auxiliary quantities
R,, r,and r;. Here we do not need R, since it is related to R, in a simple way; see (3.16).

Lemma 3.2. The recurrence coefficients a,, and 3, are expressed in terms of R,,, r, and r;;

as follows:

Cn+2+a+B+y)a, =20t — Dy =2tr; + (1 =R, + (@ + B+ Dt — B (3.36)

and

Cn—14+a+B+y)Cn+1l+a+B+y)p,=1ltr;, — (t — l)r,,]2

— (= D@ut+yt+P)r, +t[(t — DQRn+y) —alrf +n(n+y)t* —1).

(3.37)

Proof. We use (3.14) and (3.15) to eliminate 77, ; and r,,,; in (3.31) and get

[1+tR) — (t — DR,Jo, = t(a —2r;) — (t — 1)(R, — B — 2ry) +1. (3.38)

Substituting (3.16) into the above formula immediately gives us (3.36).

8
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To derive the formula for §,, we need to consider the identities in proposition 3.2.
Multiplying both sides of (3.22) by #* and eliminating >R} R*_, with the aid of (3.16), we
have

() —ary) = (t = DBt = DRy Ry + a1 Ry + cuRy1 ] + o1, (3.39)
where ¢, := 2n+ 1+« + B +y. Similarly, we multiply both sides of (3.24) by ¢ and use (3.16)
again to get
tHRn+B+y)rn— Cun+a+y)r, +2r,r —n(n+7y)]
= Bul2(t = DRy 1Ry + cp—1 Ry + ¢y Ry—1].
On account of (3.23), it is readily derived from the above formula that
tRn+ B+ )y — Qu+a+y)ry+2rr —nn+y)]— (@ — 1)(r3 + ﬂr,,)
= Pul(t = DRy—1Ry + Cn1 Ry + ¢y Ry—1 . (3.40)
Substituting (3.40) into (3.39) yields (3.37). U
Remark 3.2. Forn = 0, from (1.4) and the definitions of Ry(t), ro(t) and r§(¢), it follows
that
(@+1)2F(a+2, -y, a+B+3;1)
(@+B+2)2F(a+1,—y,a+p+2; 1)
(@+B+D2Fi(a+l, -y, a+B+1;1)
zFl(a +1, -y, a0+ p+2; %)
ro(t) = rg(1) =0,
where , F is the hypergeometric function; see [1, p 556]. The validity of (3.36) at n = 0 can

be verified directly from the above formulas.
Furthermore, it is easily seen that

Ro(t) =a+B+1+0(/1), (3.41)

ag(t) =

Ro(1t) =

’

ast — —oQ.

3.3. The t dependance

Recall that our weight function depends on #; therefore, all of the quantities considered in
this paper such as the coefficient of generalized Jacobi polynomials, Hankel determinant, etc
can be viewed as functions in ¢. In this subsection, we will investigate their dependance with
respect to this parameter. We start with the study the coefficient p, (n) in (1.2).

Lemma 3.3. We have

d

— =r, —r¥—n. 3.42

dl pl (}’l) 7, rn n ( )
Proof. From the orthogonal property (1.1), we know

1
/ P,(x)P,_1(x)w(x;t)dx = 0.
0

Note that P,(x) is also dependent on ¢. Taking derivative of the above formula with respect to
t gives us

1 1
fimx) Pn_1<x>w<x;t>dx+/ Po) Pact (6) S 1) dx = 0.
0 de 0 dr
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It then follows from (1.1) to (1.3) that

d ! dx
hnfld_pl(n) —v | Px)Pii()w(x) =0.
1 0 X —1
Combining (3.8), (3.9) and (3.13), we get (3.42) immediately. O
By (3.35) and the above lemma, it is easily seen that
d d d
3 P1 ) =71 — Ty —n=r,+(— D= ry— tEr: —n. (3.43)

*.

Hence, we obtain the following nice relation between the derivatives of r,, and r;\:

d d
t—ry=(t—=1)—r,. 3.44
dtr” ( )dtr ( )

Next, we derive the following property about the Hankel determinant D, (¢).

Lemma 3.4. We have

n—1

4 Dy(t) =n(n+a+p+7) ZR (3.45)
dtnn =nn+uo y 2 s .

where R; is defined in (3.7).
Proof. Differentiating (1.1) with respect to ¢ yields

1
h, =~y / P o) P () 2
0 X =

This, together with (3.6), (3.7) and (3.12) implies
hl, = h,(R: — Ry). (3.47)
Using (3.16) to replace R} by R,, we find

(3.46)

d
tEInh,,=2n+1+a+,3+y—Rn. (3.48)
Then, a combination of (3.48) and (1.12) gives us (3.45). O

Finally, we derive differential equations for the recurrence coefficients ¢, and g,. They
are the non-standard Toda equations.

Lemma 3.5. The recurrence coefficients o, and B, satisfy the following differential equations:

d
taanz‘xn+rn_rn+lv (Tl)

d
t&ﬁn = (2 + Rn—l - Rn)ﬂna (TZ)
where R,, and r, are defined in (3.7) and (3.9), respectively.
Proof. Applying t% to both sides of (3.33), we have from (3.42)

t—ay, =t(ry— 1y —n) —t(rpe1 — riyy —n — 1).

dr
(Ty) then follows from (3.31) and the above formula. Using (3.48), it is readily seen that
d hy
t—In— =2+R,_;1 — R,.
dr hnfl
Note that 8, = h,/ h,—, one easily gets (7,) from the above formula. O

10
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4. Proof of theorem 1.1

Now we are ready to prove our main theorem. The idea is to make use of lemma 3.4 to express
r; and r, in terms of H,, and its derivative with respect to . Then we derive two independent
formulas for R, in terms of r,; and r, with the aid of (3.37) and (7). Equating these two
formulas, finally we obtain an equation involving H,, H, and H,. We first need the following
proposition for r, and r;;.

Proposition 4.1.

_n(n+,3+y)+(t—1)H,;—Hn

rf= , 4.1
2n+a+pB+y
+a+y)—tH +H,
_ntntaty) —tH,+ H, 4.2)
2n+a+pB+y
Proof. Recalling the definition of H, in (1.7), we substitute (3.25) into (3.45) and get
H,=hCn+a+B+2y) — Cun+a+B+y)r, —r)lt—1)
+QCn+a+B+yIry+nm+p+y). 4.3)
Taking a derivative of the above formula with respect to ¢, it then follows from (3.44) that
(t—l)H,;—H,,=—n(n+ﬁ+y)—(2n+oz+ﬂ+y)r:f, “4.4)
which gives us (4.1). Eliminating r;’ from the above two formulas, we get (4.2). (|

Next we derive a proposition for R, as follows.

Proposition 4.2. The auxiliary quantity R, has the following representations:

Cu+l+a+pB+ ), ri 1) —t(1—t)rl ()]

Ri(t) = 2y, 170 1) “.5)
1 _ Irp,ri ) +t(1—0)r) (1) ’ @.6)
R, (1) 22n+1+a+B+y)B+r)r,
where
L(rp, i 1) = 2(1 — 2 +[(2n — B+ )t + 28 + 2tr]r,
—Qn+a+y)try —nn+yt 4.7
and
k(rp, vl 1) = [trf — (t — Dr,]* — (t — DQ2nt +yt + B)r,
+t[t —DQ2n+y) —a]r:f+n(n+y)(t2 —1). 4.8)

Proof. Using (3.23), we eliminate R,_; in (3.40) and obtain

rf+,3rn
(2n+1+ot+ﬂ+)/)R—+(2n—1+05+/3+V)13"R"

n

=t[@n+B+Y)rn — CQua+y)ri +2r,rF —nm+y)] — 20t — 1)(r> + Br,).

11
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Replacing B, in the above formula with the aid of (3.37), we have
2n+l+a+ B+ k(ry, r* t
ntleatBry s oy, kouro
R, 2n+l+a+p+y
=2(1 — )2 +[(2n — B+ y)t + 2B + 2r¥t]r,
—Cn+a+y)ry —nn+y)t. 4.9)

On the other hand, by applying t% to (3.37), it follows

d
(2n—1+a+/3+y)(2n+1+a+ﬁ+y)ta,3n
= t|:2t(r:)2 +2(1 = 2007, +2(t — Dr2 + 2n — B+y — (4n +2y)D)r,
d
—2n+a+y — (4n +2)/)t)r;,k —(t—-1)C2nt+yt+ 'B)Er"

+t((t —1DQC2n+y)— a)%r: +n(n+y)Q2t — l):|,

where we have used (3.44). A further substitution of (3.23), (3.37) and (73) into the above
formula yields

Cn—-14+a+p+y)Cn+l+a+B+y)
R,
=2(t — l)r,% —[@n—B+y)t+2B8+2rtlr,+ Cu+oa+y)tr,

(rr?"'ﬂrn) _k(rnvr,T’t)Rn

+n(n+y)t+t(1—t)(2n+a+ﬂ+y)%rn. (4.10)
Formulas (4.5) and (4.6) now follow from solving for R, and 1/R,, from (4.9) and (4.10). O
Now we are ready to finish the proof of theorem 1.1.
Proof of theorem 1.1. Multiplying (4.5) and (4.6) gives us
2t = D07 = P(ra, ri 1) — 4k(rn, 1, ) (B + 1), 4.11)

where [(r,, ), t) and k(r,, )}, t) are given in (4.7) and (4.8), respectively. Recall that r;; and
r, can be written in terms of H, and H,, see (4.1) and (4.2). Therefore, the above formula
actually gives us a nonlinear differential equation for H,,. Using (1.8) to replace H, by H,, we
finally get (1.9), which completes the proof of our theorem. ]

5. Proof of theorem 1.2

We conclude this paper with the proof of theorem 1.2.

Proof of theorem 1.2. Firstly, we try to express r;" in terms of r,, r,,, R, and R;,. To achieve
this, we substitute (3.36) into (77) and get an equation involving r,, r,, r;\, r,’f’, R; and rp4;.
Then we use (3.15) and (3.44) to eliminate r,,,; and r¥'. At the end, we arrive at

*

1 1
=4+
"2 2R,

(¢t =DR, —2r, —(@+B+1)+

3R, (Cn+a+B+y+2)2r, — R, + B)

+(R,+ D2t —Dry, — (¢t — DR, + (¢ + B+ Dt — B]). 5.1)

Next, we insert the above formula into (4.5) and (4.6) and obtain a pair of /inear equations
in r, and r;,. Solving this linear system gives us

rn = F(R,, R) and r, = G(R,, R)), 5.2)

12
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where F (-, -) and G (-, -) are functions that can be explicitly computed. Because the expressions
are too complicated, we have decided not to write them down. Due to the fact that
%F(Rn, R)) =r) = G(R,, R)), it can be shown that
[Cn+a+B+y)2n+a+B+y+ 1)+ (2Qn+a+B+y+ i
—2@2n+a+B+y)—DR,(@)—(t — l)Rﬁ(t)
+1(t — l)R,’l(t)]<I>(R,,, R ,R)) =0, (5.3)
where ® (-, -, -) is a functions that is explicitly known. Obviously, the above formula yields two

differential equations. One is a first-order differential equation, actually a Riccati equation,
whose solution is given by

Qu+a+B+y+ DA +AQ2n+a+B+y +1)(1 —r)2mretby)

R0 = ) 5.4
() 1+ACn+a+B+y+ 1) — f)2ntatpry+l (5.4)
where A is an integration constant. However, as t — —o0, it is easily seen that
0, if A0
Rl‘l . )
(t)%{2n+a+ﬁ+y+1, if A=0, (5.5)

which violates the result Ry(f) ~ « + B8 + 1 in (3.41). So we discard this Riccati equation.
Finally, applying a suitable rescaling and displacement as given in (1.15), we obtain the

Painlevé VI equation (1.16) from ®(-, -, -) = 0 in (5.3), and this completes the proof of our

theorem. ]
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